
 
Micro Magic Mk II Racing Version – Parts List with Pictures 

 
Micro Magic Mk II (Racing) Parts List 
No.  Description  No. off  Material Size in mm 
1 Front support plate 

(boatstand) 
1 Plywood 4 mm, laser-cut 

2 Rear support plate (boatstand) 1 Plywood 4 mm, laser-cut 

3 Side panel (boatstand) 4 Plywood 4 mm, laser-cut 

4 Protective stand lining 
material 

1 Self-adhesive 
foam tape 

Cut lengths to suit 

5 Keel / mast socket 2 ABS Vac.-moulded, CNC-
trimmed 

6 Mast support reinforcement 2 Plywood 2 mm, laser-cut 



Micro Magic Mk II (Racing) Parts List 
No.  Description No. off   Material Size in mm 
7 Servo mount support 2 Plywood 2 mm, laser-cut 

8 Hull 1 ABS Vac.-moulded, CNC-
trimmed 

9 Bow reinforcement 1 Plywood 2 mm, laser-cut 

10 Rudder bush reinforcement 2 Plywood 2 mm, laser-cut 

11 Servo plate 1 Plywood 2 mm, laser-cut 



Micro Magic Mk II (Racing) Parts List 
No.  Description No. off   Material Size in mm 
12 Sail servo reinforcement 2 Plywood 2 mm, laser-cut 

13 Jib trim servo reinforcement 1 Plywood 2 mm, laser-cut 

14 Deck 1 ABS Vac.-moulded, CNC-
trimmed 

15 Cockpit bulkhead 1 Plywood 2 mm, laser-cut 

16 Rudder servo plate 1 Plywood 2 mm, laser-cut 

17 Rudder servo reinforcement, 
large  

1 Plywood 2 mm, laser-cut 

18 Rudder servo reinforcement, 
small  

1 Plywood 2 mm, laser-cut 



Micro Magic Mk II (Racing) Parts List 
No.  Description  No. off  Material Size in mm 
19 Central bulkhead 1 Plywood 2 mm, laser-cut 

20 Shroud reinforcement 2 Plywood 2 mm, laser-cut 

21 Canopy latch reinforcement 

 

4 Plywood 2 mm, laser-cut 

22 Stern reinforcement 1 Plywood 2 mm, laser-cut 

23 Stern side reinforcement 2 Plywood 2 mm, laser-cut 

24 Captive nut 4 Metal M2 

25 Central girder 
 
 

1 Spruce strip 3 x 8 x 210 mm 



Micro Magic Mk II (Racing) Parts List 
No.  Description  No. off  Material Size in mm 
26 Rudderbush 

 

1 Brass tube 40x3A 0x30mm 

27 Rudder 1 Plastic Ready made 

28 Rudder servo 1 Order No. 
51251OSE 

Ready made 

29 Rudder servo output arm 
Supplied with Special Rudder 
Servo 

2 Order No. 
3941.50 

Ready made 

30 Tiller 1 Plastic Ready made 



Micro Magic Mk II (Racing) Parts List 
No.  Description  No. off  Material Size in mm 
31 Cable guide 2 Snake inner 

sleeve 
2 0 x 0.8 x 15 mm 

32 Sheet guide 2 Plastic Ready made 

33 Fillister-head screw 14 Stainless steel 2.2 0 x 6.5 mm 

34 Ring-screw 4 Nickel-plated 
brass 

3.8 0 x 1.5 0 x 11 mm 

35 Washer 5 Nickel-plated 
brass 

4.5 0 x 2.2 0 x 0.5 mm 

36 Sail-setting servo 1 Order No. 
41031OSE 

Ready made 

37 Jib trim servo 1 Order No. 
5125.LOSE 

Ready made 



Micro Magic Mk II (Racing) Parts List 
No.  Description No. off   Material Size in mm 
38 Switch 1 Order No. 3934.1 Ready made 

39 Sail-setting lever 1 Plastic Ready made 

40 Pulley block 2 Plastic Ready made 

41 Fillister-head screw 2 Stainless steel 2.2 0 x 9.5 mm 

42 Jib sheet 1 Polyester cord 0.4 0 x 500 mm 

43 Washer 3 Nickel-plated 
brass 

Ready made 

44 Mainsail sheet 1 Polyester cord 0.4 0 x 500 mm 
45 Rudder steering cable 2 Polyester cord 0.4 0 x 300 mm 

46 Tensioner 9 Plastic Ready made 

47 Turnbuckle 4 Plastic Ready made 

48 Keel 1 Plastic Ready made 



Micro Magic Mk II (Racing) Parts List 
No.  Description No. off   Material Size in mm 
49 Keel adaptor set 4 Plastic Ready made 

50 Keel ballast bulb 1 Lead (TOXIC!) Ready made 

51 Retaining pin 2 Steel 1.5 0 x 15 mm 

52 Keel bulb fairing 2 ABS Vac.-moulded 

53 Retaining nut 

 

1 Nickel-plated 
brass 

M2.5 

54 Gasket 1 Rubber cord 2.5 mm 0, overlength 

55 Canopy  1 ABS Vac.-moulded, CNC- 
trimmed 

56 Mast 1 CFRP tube 5 0 x 4 0 x 850 mm 
57 Mast sleeve 1 Aluminium tube 6 0 x 5 0 x 115 mm 
58 Mast Base 1 Hardwood Dowel 4 0 x 50 mm 



Micro Magic Mk II (Racing) Parts List 
No.  Description No. off   Material Size in mm 
59 Main boom bracket  1 Plastic Ready made 

60 Mast plate  1 Plastic Ready made 

61 Main boom swivel bracket  1 Plastic Ready made 

62 Swivel axle  1 Plastic Ready made 

63 Main boom sleeve  1 Plastic Ready made 

64 Main boom  1 CF1RP tube 6 0 x 5 0 x 205 mm 
65 Depressor  1 Aluminium Ready made 

66 Clamp nut  1 Nickel-plated 
brass 

M2.6 

67 Annular clamp, large  3 Plastic Ready made 



Micro Magic Mk II (Racing) Parts List 
No.  Description No. off   Material Size in mm 
68 Retaining screw  6 Stainless steel M2 x 8 mm 

69 Retaining nut  
None Supplied 

2 Nickel-plated 
brass 

M2 

70 Jib hanger  1 Plastic Ready made 

71 Masthead fitting  1 Plastic Ready made 

72 Backstay  1 Polyester cord 0.4 0 x 1100 mm 

73 Wire hook  4 Metal Ready made, shape as 
plan 

74 Shroud  1 Polyester cord 0.4 0 x 2000 mm 



Micro Magic Mk II (Racing) Parts List 
No.  Description No. off   Material Size in mm 
75 Mainsail  1 Polyester film Ready made 

76 Sail batten  3 CFRP strip Ready made 

77 Sticker  6 Textile film Ready made 

78 Mainsail luff stretcher  1 Polyester cord 0.4 0 x 300 mm 
79 Mainsail halyard  1 Polyester cord 0.4 0 x 200 mm 

80 Mast ring  6 Metal Ready made 

81 Sliding sleeve  1 Plastic 3.2 0 x 2.2 0 x 4 mm 



Micro Magic Mk II (Racing) Parts List 
No.  Description No. off   Material Size in mm 
82 Collet, large  1 Plastic Ready made 

83 Jib boom  1 CFRP tube 4 0 x 3 0 x 202 mm 
84 Jib boom end-cap  1 Plastic Ready made 

85 Jib boom end-cap, bored  1 Plastic Ready made 

86 Retaining pin  1 Metal 1.5 0 x 20 mm 

87 Jib counterweight  1 Brass 7.8 0 x 10 mm 



Micro Magic Mk II (Racing) Parts List 
No.  Description No. off   Material Size in mm 
88 Jib  1 Polyester film Ready made 

89 Forestay  1 Polyester cord 0.4 0 x 1000 mm 
90 Jib halyard  1 Polyester cord 0.4 0 x 200 nim 
91 Luff stretcher  1 Polyester cord 0.4 0 x 200 mm 

92 Annular clamp, small  1 Plastic Ready made 

93 Collet, small  

 
 

3 Plastic Ready made 

94 Jib retainer  1 Polyester cord 0.4 0 x 300 mm 
95 Topping lift  1 Polyester cord 0,4 0 x 900 mm 

 
 
 
 
 


